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18U/94/29(Set-1)

No. of Questions : 100
e BT G - 100

Time @ 24 Hours | [ Full Marks : 300
WHY o 2V U2 ] [ guIg: 300

Note: (1) This question booklet contains 100 (hundred) questions in all (30 in
Section-A and 70 in Section-B). Attemnpt as many questions as you can.
Each question carries 3 (three) marks. One mark will be deducted for each

tncorrect answer. Zero mark will be awarded for each unattempted

question.

T AF-qRAPT # w100 (W) U € (Gve-a # 30 7 wue—g & 70) |
Cﬂﬁ?ﬂf%mﬁﬁﬁﬁﬁmﬁﬁﬁﬂmmmHS{Eﬁ‘ﬁ}ahﬁaﬁ"ré’l
m?aﬂaﬁﬂﬁ?a?%qwﬁaﬂﬂm:uﬁhﬁﬂﬁﬁﬁmaﬂum
¥ & |

(2) If more than one alternative answers seem to be approximate o the

correct answer, choose the closest one.

o vafae defesd TR WE W @ Free i @ a4 fwend @8 o

gy |

(3) P.T.O.
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s 2
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Which one of the following s an indicative of the quality of teaching ?
(1) Maintains pindrop silence in the classroom
[2) Raises very standard questions
(3) Students reply in the dassroom
(4) Pass percentage of the students
oy 3 @ e SRR @ T 67 g P &7
(1) wen d IOt gt ST
(2) HAE T B gE
(3) BT BT heT W ST 4
(4) e < W @ WA

The main objective of a testin class is:

(1) To repeat whateveris taught till now

2y To gauge educationa! achievement

(3) To train students to give reply after thinking

(4) To give practice of writing

e # U e P Ui U

(1) @ TF o @e verd T & ! aTErl

(2) 9fdve Suafdr @1 T EE

(3) Erefia @ Riaa & grdr SR & fora wfdrfera &

(1) foras @1 ST O

The most significant role of a teacher in a class s to act as a person whao 1=
intended to:

(1) Teach content to the students (2) Ensure discipline amonyg students
{3y Train the students (4) Guide the students

T ST W) e e A, b § uw WO @i o el ¥ O

(1) o= @ faga.aeg vl (2) T B SR @3
(3) B @7 e & (4) ot BT HECET

(4)
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Instruction : On e basis of the following contents, answor the question nunthers
11&12:
Fr=Tfens fAva.avg & aper gv g T T 12 @ gav iy
There are six persons A,B,C, D, Eand F.Cis the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 11 and 12 .
W AR A, B,C, D, E ik F # C,Pa%‘fa-s:ﬁ'%|E_,Eaﬁtrl%‘ffﬁ?méé.':},.qaﬂ
ﬁm%aﬁ?}?wm%|maﬁaﬁﬁa ﬁﬁ%@ﬁ?ﬁﬁﬁ?lﬁﬂﬁ]l Td 12
& IR |

How many male members are there in the group ?

(1) one (2) two (3) three (4) four
TE H oo 7o9 wew # 7

(1) vF (2) =7 (3) (4) =W

How is F related to E ?

(1) Uncle (2} Husband (3) Son (4) Daughter
F.E # &9 amfayg 2 7
(1) =T (2) ofdy (3) g (4) =

Which of the following does not belong with the others ?
(1} Guitar (2} Flute (3) Vielin (4) Sitar
et 6 & B9 o § Al T8 & 2

(1) frerw (2) @ (3) arafas (4) From
If the day before yesterday was Thursday, then when will Sundav be ?
(1) Today (2) Two davs after today

(3} Tomorrow (4} Day after tomorrow

f T & uaer gEwRER o, | W ma gp 0

(1) 3md (2) 315 & 71 2 are

(3) & (4) FF @ a5 w f2q

(7 ) BT,
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All of the following are applicable for teaching to create good motivation
among students except that teaching should :

(1} be brief

(2) relevant to the pupils

(3) be related to the lesson that follows

(4) always come from the teacher
ﬁmﬁqﬁmﬁf@r&mmﬁﬁaﬁaﬁﬁﬁmﬁwcﬁ%ﬁmﬁ%mw?ﬁ
(1) R wfér g arfed

(2) e ot 3 ageu B9 =y

(3) Pmerr werd & 9@ urs @ HIE BT gy

(4) Freror ehem swanys W snar T

Children generally remember those things that they :

(1) learn by doing themselves (2) listen from the mouth of teacher
(3) watch on the television (4) read in books
ﬁ%ﬁﬂmmﬁ:ﬁiﬂﬁﬁiﬂﬁﬂﬂ’ﬁ?ﬁ%ﬁ:

(1) 7 ova drgy & {E}Wﬁﬁﬂ'@ﬁﬂﬁ'ﬁ%

(3) g¥aeH w dud & (4) e ¥ geg &

In various teaching methods, which is designed to modify the learners'
behaviour 7

(1) Subject matter (2) Learner (3} The teacher (4) School

e Rerr iyl 4. ot Rl & wvaere # Rt & R s A oo
3 9

(1) foum avg (2) srfErmaea! (3) T (4) Frmem

The most powerful barrier of communication in the classroom is :
{1) Lack of teaching aids

(2} More outside dism rbance in the classroom

(3} Confusion on the part of the teacher

(<1 Noise in the classroom

(5) P10,
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15.

16.

17.

18.

19.

i 15l October is Sunday, then 1st November will be :
(1) Mondav (2] Tuesdayv (3) Wednesday () Thursdav
afe 1 areat @1 e 8 a1 AT w1 war & wr e

(1) TTFEnr (2) ATAIN (3) quan (4} q'lﬁrm

1f 25th of August in a year is Thursday then, the number of Mondayvs in that
month will be :

(1) three (2) four (3) five (4) six

+fr faeli wre 1 25 gasiaar &1 Gl 2 ) 9@ #EN § TwER W T
ARl

(1) a= (2) o (3) Ul 4

Pointing to a woman, a man caid, "The sister of her mother's husband i m
Junt.” How is he related to that woman ?

i1y Ne 'rhn".\ {2) Father (3) Uncle [4] Brather

v afiva @) AR e W B, T rﬁm 3 e, wyE °i o ool @ gps oy and
& g a0 HEE | F9 T

(1) it (2) fo (3) =TI (4) HIg

| am facing East. I turn 1007 in Whe clockwise direction and then 145 in the
anticlockwise direction. Which direchion am 1 facing now !

(1} Easl (2) North-East (3) North (4) South-West

# e o) Atk gs fa g1 % wgl Wl faen (afdmnged) 8 100° e 7 als
a7 145° ot @) gt @ fawad Framr (amradd) G| AR A de Ty R A w7

(1) 9= (2) TEEYE (1) dOe (1) afEo-ufEan

Train: Track::?

(1) Idea: Brain (2) Bullet : Barrel

(3} Waler : Boat (4) Fame: Television
oL | RPRar o] I

(1) faam : wfkes (2) gere @ 9xa

(3) Tl : AT 4y A cfafras
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[FSHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as -
(1) 3568 (2) 3658 (3) 3685 (4) 3583

i3 SHARP &) |iefis v (@) & 58034 ey W € @21 PUSH &) 4658
®re far amar & @ RUSH & &9 wre fsar oo 7

(1) 3568 (2) 3658 (3) 3685 (4) 3583
RMSA is related to .............. education.

(1) Primary (2) Higher (3) Secondary (4) Technical
AR U UFQ Ren ¢ wafdg &

(1) orfies (2} 9= (3) wrafiw (1) TEE
‘Gyan Darshan’ is related to -

(1) IGNOU (2) NCERT

(3) UGC (4) NCTE

(1) 794 (2) o o < =

(3) T E am A Y ) W agn

Who was the Chairman of National Knowledge Commission ?

(1} Sam Pitroda (2} Krishna Gopal
{3) D.DP.Singh (4) Ved Prakash
WA S AR FT e B o ?

(1) @9 e (2) W Ture

(3) oo fife (4) 98 "dmr

‘Planning Commission’ in India has been renamed as -

(1) Artha Aayog {2) Planning Commission of India
{3} NITI Aayog (4) Vikash Aavog

HRT H T S B Q9 S S T

(1) 2128 sy (2) @ifr wiew st gfem

() A amoe (4) f@@rs amin

(9) ZRE
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25.

26.

27.

28.
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Which State has maximum number of Srate Universilies' inIndia ?

(1} Rajasthan {(2) Uttarakbhand  (3) Uttar Pradesh  (4) Gujaral
e @ BrE sy 3 watew oo fovafewred € 2

(1) Tl (2) TERETS (3) Sl 4ad (4) ol

‘World Environment Dav' is celebrated on

(13 3th September  (2) Sth June (3) 15th August (4) 23rd January
fyeg mrtawn faae @a werdr 9 8 7

(1) 5RmmR B (2) 39 @ (3) 158D T (5) 23T S

When 'National Youth Dav’is celebrated 7

(1) 12 June (2} 12 August (3) 12 January (4) 12 October
i Al fRawy Ta w9 8
(1) 125§ @1 (2) 12 3PS @1 (3) 12978 1 (4 1250 @

L which State 'Vishwa Bharati University’ is situated 7

(1) Assam (2) [limachal Pradesh
(3) Bihar (4) West Bengal

Sy ared) Pvafrerey fra won H fug & 7

(1) =a (2) fRuresr w22

(3) 1R (1) af¥e @

Whao is the author of the book 'igniied Minds' 7

(1) Yashpal (2} Vivekanand
(31 A.P.]. Abdul Kalam (1) Karn Singh
A HIZVEE B @ B 7

(1) TeaTe (2) fddai-g
(3) To Hlo He 3egd HAM (4) @l fEe

In which year Indian Parliament enacted RCE Act ?

(1) 2000 (2) 1992 (3) 1986 i4) 1993
e W 3 e 9d amedloande sfifNam aen ?
(1) 2000 (2) 1942 (3) 1986 (4} 1993

(10)
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SECTION -B
grg — g
J B e
31, The value of lim : Tl s ;
= (cos ™ x)?
1 1
1) = 2y = 33 1
(1) 5 (2) I (3) (4) 0
1=y
lim = % J g
=l {cosT x)*
ay 2 1 3) 1 ) 0
ST oy ‘
%
32. The value of lim log(t +x7) is:
veall o gin x
(1) -1 (2) 0 (3) 2 (4) 1
]
lim 1{15;“;!-.‘[ ) BT A §
V=0 sin”y
(1) -1 (2) 0 (3) 2 (4 1

33. Let IR be the set of all real numbers. For which value of k., the function

F IR IR defined by

‘fIE =253 when 1 =-1
.'r{"'.] = | T+ : ® z
f.

2 . when x=-1

1s continuous at y = 1.

(1) 4 (2) +4 (3) 2 (4) -2
IR &) aredfaes wwnsii &1 agey 3 1@ e @ fa
pPedpay
pphay =g sl
[ ;',. ] .Y:—]
ART ORAIRET e fi IR IR v= -1 98 Hag & 7
(i) 4 {2) — (3) 2 (1) -2

(11) ELO:
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34.

35.

36.

(R Y
e
Derivative ol sin ”I —_
|"- .T‘
3 )
rl
1y —= far ==——=
e (1+1")
i Y
:_\'in]{i:,—lllﬂa_m]th_*l""hi
(1) —— (2)
1+ x° {1+ _T.z]

(3 —

(3)

day
If cosy =xcos(y +a), then value of — is:

—
ek
L,

{3) ;
sind
= dy . _
48 cosy = xcos(y+a), & - & A ¢
' : X
0 COsd
' EU‘-"?{IJ'-fﬂ}
3) s {_l’rtﬂ_
s Sird
2
= L d-y
[ l—,—’f—z =1, then value of —
a“ b dx
a -2 oy =
: - fis
a’y nzy}
x* 5 d 1;
O AT —= & = B
a dx®
312 J.*'L
1) —— (2} ——
ay a

cosa
—
cos” (y +a)

%,
cos {1y +a)

X

I -
| with respect to ¥ s

X
l-x~

e
1+x~

i

1-x
b

sin
cos“ [y +a)

cos(y +)

Cirsil

SN
B e
cos“ (i +a)

cos{ly + a)

COs T

b

ay 4

r.r"_u

L
H) ——=
1+ x
1
2 B
b+ x”
4 IIP-.[:‘"'
P
(4) ~—1
i”
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I"hg rac_im_q of a spherical balloon is Increasing al a rate of 10 cm/sec. When the
radius is 15 cm, the surface rea of balloon is inereasin g at the rate of :

(1) 120 7 cm?2/sec. (2) 100 m em2/sec.
(3) 1200 7 cm?/ sec, (4) 1000 n cm2/sec,

wnﬁmﬂaﬁaﬁ%?fnmﬁt?fc/ﬂuaﬁﬂﬁﬁ?ﬁ%;mgaﬁﬂﬁw
15 9o & a1 g TN T weT ) 2y

(1) 120 7 99 /950 _ (2) 100 7 99 /90
(3) 1200 = ¥ /Ho (4) 1000 7 0 /90

The local minimum value of the function f(x)=(sin? x+ cos* x) in Q< x < E,

15

1

(1) 0 (2) 1 (3) (4) 5

51—

W

1

B f(x)=(sin x + cos* x) BT FreTem AW O<x<r, B e &

. 1 1
1) 0 2) 1 3) — 4) -
() (2) (}vz f_}z

The function f(x)=x", x>0 is increasing on the interval ;

M1

(1) (e, =) (2) [e o) (3) LL—J,GE-} (4) (-oc, ]
werd f(x)=x, x>0 3 SR § ged BT %9 % & .
1
(1} (e, =) (2) le, =) (3) {—m} (4) (-0, ¢]
!3
The value of _[sin o .\'I 8. —dx, 1s (where ¢ being the constant of integration) :
a+x '
: i
(1) ntarl'!JE+c (2) acos™ -Ili-i-[‘
a Va
y 1 /X -1 ,[I.‘t'_ = lT i
(3} xtan™ = +¢ B rvtan™ = eqtant IS o ax o
i 1!, a Y

(13) P.T.O.
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1'51,1 .’~— v, @1 HF B (el ¢ Yo TP © Tl 3y :::1}
% R Y
B < fe
{“l g fan l L:.-_};_' {:1 F W T +C
=8 0 R
3) rtan™! =+ N e R e (s
(3) xtan i C (4 xlan J.; il ".'Ir! A
41. The valucof I.\':am il s
i
T i 47
{1) 5 (2) Y (3) 5 (4) n
]--T*_%il‘l Sy dy @ 4 g
A
Tt n L dm
(1} = @ = 3) = (h =
42. The value of ];cut T—x+ 1'2'] dx, 18
M
Tt i LT
-+ ¥ 2 2 ¥ - — |rer
(1) fog 2 (2) n-logl (2} > —log2 {+) ZIUﬁZ
j-cm""l[l-—.r . .x'l}ffr T HIE BT
(1) m+logl (2) n-log2 (3) i}—[ugE {+) ;lngf

43. The arca of the region bounded by the parabola ¥ =2v+1 and the line

v=y=1, 1080

(1) ET? sq. units  (2) %sq. units (3) Lf 5. units (4} 2—? sgl. units
wRaey 2 =2x+1 T I Wy -y =1 % RN gy & o e E

() ? o IhE (2 % atf gfie (3) j’f af ZHe (4 ,:L el e

(14)
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1 A
The order of differential equation &l +sin| 22 : |' i
dx’ L{f'l.

(1 3 (2) 4 (3) not dufincd (4) 7

tf i "r I"l‘T'1 ] W I
HAEH AR -—-+r,m'——~— =0, & B (37d7) &

E.Irl | iy
(1) 3 (2) 4 (3) uRemfier 8 & (g) 7

The differential equation representing the tamily of ellipse having centre at
origm and foci on x—axi5 is:

d*y ﬂ'z;" dy n’ztf Cdy ) dy
(1 J.l,uf——'r,'[ L —y—==0 2 —‘—+[—'-] i
) dy= dx ! 7 dy ) dy? Ly dx
d’y un‘if‘“ d:i!f dy
(3) XNy g2 (4} . :_+:r:(-‘—|—i'--ll]
dr - L dx -I ’ dx - dx J j

(d 1 2y
1) iy 5] sy @ L [H) v
dv? " ldx ) da de* \dy) dy
iy Ty {2 i
e T [ R (4) u.‘—#ﬂ"_“’)_u:n
dr- dv i |

In a bank Principal increases at the rate of 5, per vear. The number of vear in
which Rs. 1,000 double it self, is :

(1) 20 »earq (2) 10 years

(3) 20log, 2 years (4} 10 log,. 2 years
mﬁﬁﬂﬁﬁﬂ%ﬁﬁfbmﬁﬁﬁ?ﬁﬁm'%%aﬁﬁﬁ1,uﬂ{l Fo I & T
Bl SR ?

(1) 20 & (2) 10 =4

(3} 201log,2 o (4) 10 log, 2 =t

T'he solution of initial value problem (x - sin ydy + tan iy dy = 0, W =0, jis:
[y y= sin"’{Z_‘rj (2) v=sin I

; 1
{3) v=tan W {4} sy + -_IL'E‘IHE_U ={)

t157) PTG,
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48.

49.

50.

griars A @ae (v ~siny)dy + tan um'*ld y(uy =1, e e
(1) y=sin '(2) (3) v =siny

. 1
rjh:’ rv=lan il (-]--} ysiny '__],;_-“:\"'__3.“; [}

Acsume that a spherical ram drap evaporales at the rate propectional to it
surface area. If its radius originally is 3 mm and 1 hour latter has been reduced
(o 2 mm. The time in which rain drop disappears is

{1y 6hr - (2) 4 hr (3) 3hr (4) 2 hr

ae W BRT T § 6 Ue merdR aq qo B nuaRor B ET BUE LA
Same @ wEudl | afy gg @ aRRiD faram 3 fmlo € don O r GIEEE |
o 4 aae 2 fislle w@ Jrﬁ 5 o1 Fpas owm Aig g9t @ g7 g e gt ?

(1) &€z (2) 4 el (3) 3 Her (1) 2 ¥

The line normal to a given curve at each point (x, i) on the curve passes

through the paint (2, U). If the curve contain’s the point (2, 3), the eguation of

CUrve 1s

5 ' - 1 d -
HY ¥ =2 (2); x5y =li=a
(3 _If: = dy X {+) o 1};'\' =4-5r

e aB @ R AR (x, y) ROl A e fimg (2, 0) 4 SR8 yfe
v T T R (2, 3) Rer B, o 9 ¥ @ i =i

! b x ) ? 7 =
{]J II._I'I.- T "}_ {2} 1T+ -hr“ : __LIL -5
q - \ A
{_'“ _|-J"_ ] J-..'L' + X7 [.].} T4+ 2.“-‘- | :‘I'I,

d=1+f+k and ¢ = j-k are given two vectors. 11 b satisfying the condition

Ful=ciand gb=3: Then: s

1~ 1+ 1¢ 7 e b
1} I ___r' +— ) ;._k 1 E _: -:- .I.-.-:‘
( S~ A (2) i) 11\

G e 2 A
{Jﬂ |!'-'=—f.+‘-'l|i+—1r': {4} A R R

3 3 3 T 9 3

(16)
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d=itjekma =)k ) afen RE . oy b s wER 2 F Gixb -
Al 3T b o Hie R

- N T O
SUNTL e %) §-25.23.2
R (&) Uit

L 5? 2"5 2"' - "-]* 2}: 2.!-

3] ==r4—j+=k Pt s W
Q) BEgtrglty Bl esgials®

[ @,b,¢ are three unit vectors such that |F:+E=+E|-—-1 and a is perpendicular

to 0. If ¢ makes an angle « and B with @ and b respectively, then value of
COs o+ cos s

3 3
(1) = (2) & (3) 1 (4) -1
afe EIE;,E di-l thd ARw g ;e v E 5 |E+E—|—fi:1 gem 4. b TR Tm
?IfrﬁfE,Eﬂmﬁ‘?ﬂﬂr‘ﬁ:uﬂ%ﬂﬁﬁmW?.ﬁcosu+cus[}?ﬂﬁﬂ%*
3 o
iy & o 3) 1 1) -
(1) 5 (2) > (3) (4) -1

Two integers are selected at random from integers 1 to 11. If the sum is even,
the probability that both the numbers are odd, 15 :

= 1 2 3 6
(1) T (2) z (3) = (4) -
19011 7% & quie ¥ @ ggesw R < qoitet @ au fear s &) oY qofie
FT A W G € Ol 9 e @ v g ot mile €

1 2
(1) 3 (2) 5 (3)

|

f
(4) T

A class consists of 80 students, 25 of them are girls and 55 boys; 10 of them are

rich and remaining poor, 20 of them are fair complexion. The probabilitv of

selecting a fair complexion rich girl is:
5 5. B 3 5 -

(1) 16 (2) 8 (3) e (4) o

v HE § Bt 80 BIA & R 25 wefeal aw 55 wew ¥ 74 9 10 o BT ©

S o9y o e £ 9l 38 OE A U 20 BTE MR I @ | v ORI A7 o

et & gafia & @ ol 2

y 2 A (3 (4)
t lH < 128 . 512 - 312

(17) P.T.O.
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54.

55.

56.

57.

Three persons A, B, C thrown a dic in snecession Glbone geta "Sis™ and win the

pame. The probability of winning B is :

] 3n o3 |
{1 — .y e 3) — 4y =
3 @ 5 ey G

= Gl A, Baur C T U &7 U6 @ d€ Uh a8 dF Babd v8d & od dd &
Siie ® (&0 JEed "Si" Td I el o BB wF N a5
36 30

(2) =— (3) 4 -

I
iy = 20
43 91 Sl | 2

A die is tossed twice. A 'Success' is "getting an odd number” on a random toes,

The variance of number of ‘success’ is :

! oo 1 2
5 (2) (3) 1 =

2 3 5
TE AR P A AR HH T 8| AGEA B T AW W R e wa g o
HEEa © | dHear & W 7 (62) TR ga 2 7

1 a2 )
(1) 5 (2) = (3 1 @ 2

1 1 1
Ifm e Nand =2, thenvalueof | "C; "'C, bt o REE
| i TR B
| ”fC-\. i lC‘l L _(_:

(1) wm (2) m{m+1) (3} | (4) 2
| 1 1 |
T m e NTU w224 ey TG el
| .l.'.lC:2 aur+] Cz M2 t,] |
(Ty m (2) m(m + 1) (3 1 (4) 2
[2 3 1 4]
The rank of the matrix :‘1:’{! 1 2 -1lis:
10 -2 -4 2
(1) 1 (2) 2 (3) 3 (4) 4
[2 3 1 4]
g A=[0 1 2 -1 %% &
0 -2 —y4 EJ
s ] 2) 2 (31 3 (4] 4

(18)
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59.

60.

61.

62.

18U/94/29(Set-1)

i | ] 1 - S ;
[t /(1) = log, ;J'H;;:{fn;; 1By —-x" - f‘?}}f, then domain of the function f(x) is
(D (7,11) @ 7 (3) (8,11) 4) (8, 10)
AE Fixv) =log logsllog 1 (18x - x* —?F]H‘, o7 ®orT f(x) F1 9 (domain) &
(L (7, 11) (2} [7,11] {31 (8, 11) (4) (8, 1)
3o S
The value of cos” 33 —cos” 57 15

. 221", 269
Sin” —— —sin” —

=

- 1
(1) V2 @ — (3) -2 @ 2+
BT 2
55 33 —cos” 57 )
CO 33_ cos 5?. gy
.1 21 . BY
S§in° ——sin” ——
2
; i 1
(1) 2 2) —= (3) -2 (4 =
N L &
Solutions of equation a.E.Lu-:c D+tant =1, are:
(1) 0=2nmneZ (2) B:bm—%,uez
(3) n:mm+§,nez (4) H=QH—UE,HEZ
TR A2 secO+ tan 0 = 1 &7 wrgof & &
(1) 0 =2nm,neZ (2) H:hm—%,ﬂeﬁ
m 1 s
(3 G;’lmwr:,rar:é (4} H={2FI—']}E,HEZ
If x + 5 = 4i, then value of vreoy? 435 —xad s
(1) 160 (2) 16 (3) ~160 4) 0
A v+ 5=4i 8 ¥ 49 4Bl A B A E
(1) 160 (2) 16 (3) =160 (4) 0
-1 .
The argument of complex number = mBLE
COS — + {8in -
3 3
T 3T n P
(1) — 2y — 3 = (4) —
) 3 ) 12 ) 4 }I |2

(19) P.T.O.
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63.

64.

65.

66.

S e — T T () I §

B g
COs -+ s —
'Ii

T S Tt e
9y =2 3) = 5 ey
(1 = 2) 3 L3, 1 1
: 3 - | 1.
If e, P are roots of the equation 4x= +3x +7 =0, then —+— i~ equal Lo
i
7 ; _ 7 3
[ = () = 3 7= g -
} 7 J 4 4 7
ﬁﬁuﬁi?ﬁmﬁT4t:—h>?—UEﬁqa§,m-l+éanmm§;
7
7 ¥ 7 3
1 = 2y = (3 —= 4=
(1) : ol k= b =
_ ) Y4 20x-5) y-2
The number of roots of the equation : i <z s
(x=3Hx+6) x+4d
(1) 0 (2) 1 3) 2 (4} 3
; =] ik ; ;
AHTE red)lx ~5) sk e Hell & He &
Cr=3ry+h) y+a
(1 0 (2) 1 (3) 2 (4) 3
In inequation — 1 25, the value of x is:
X -
(1) (-2, 3] (2) [1.3] (3 (1, 3] (+) [3, »)
: Jy+- .. .
ST Tl'ff;aﬁ Ty A R
X =
(1) (== 3] (2) 1,3] (3) (1,3] 4 13, »)

By using the digits 0, 1, 2,3, 4and 5 {repeatition not allowed) number are

formed by using any number of digits. The lotal number of non-zero numbers

15
(1) 1630 (2) 1625 (3) 1030 (1) 1230
(1,2, 3 47275 AqE &H FRCEIE! A o afiE EELs Py ?];F-J:.T:I-g HTITaT Ly

AR (3T B gy Wi wd )

(1) 1630 (2} 1625 (3} 1030 (4 1330

(20)



67.

68.

69.

70.

71

18U/94/29(Set-1)

A polvgon has 44 diagonals, the number of its side is :

{1y 10 (2) 11 {(3) 12 {4) 13
T Agd B Rl B T 44 2 @ 99 Jonell o der @

(1} 10 (2) 11 (3) 12 () 13

Among 14 player 5 are bowlers, in how many ways a team of 11 player may be
formed with at least 4 bowlers ?

(1y 180 (2) 265 {3) 264 (4) 263

afe 14 Raonfedl 4 9 5 aer € & an T #W 4 aeRl ® 9 11 Raetegi 9% &
fhe Y o g41dl o TEdl £ 7

(1) 180 (2) 265 (3} 264 (4 263

If the coefficients of (r - 5)" and (2r = 1)" terms in the expansion of {1 + 11" are
equal, then value of ' is :

(1) 12 (2) 13 (3) 14 4) 15

afy (1 + 0" @ W (- 5)d wRn (2r - 1)1 el @1 i dwmes 8, dr i T

-~
[

(12 (2) 13 (3) 14 (4} 15

5, denole the sum of the first it terms of an A, P. If S5, =38, , then —H:"{l s equal

fo:

(1) 6 (2) S (3) 4 (4) 3
AR S0 (AL D) @ wuF a usl @ anr S, g Fefm &) a5, =38, &

-L:'—”"cﬁ'fﬂ'l_*‘f%

i
(1) 6 (2) 3 (3) 4 (4) 3
2 2% 8
The sum of the series = + 8 ? + -b—J s to n terms is
3 9 27 Bl
(1) n—l{3"”+l} (2} i1+ ]{1‘.'7 1} (3) ;r--lﬂ_g‘"] (4) l{’.r'i_-“
2 ; BY ST LY
v 2 8 26 80 . g A
L g1 A W st e T & pgg] & T E -
3 9 27 8l
(1) H—%[B'”rH £2) it --Fll:.'ﬁ"—J}n (3) sr—-%{'l—?: o %tﬁ"’ )

(21 ) P.T.O
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72. The variance of following datas:
(63, 68, 58, 44, 48, 45, 60, 62,60, 50 is
(1) 641 (2) 8.13 (3) 33.1 (4) 36
Freifha aifmel @1 7@ (62) §
65, 68, 58, 44, 45, 45, 60U, 62, 60, 30
(1) 64. (2) 8.13 (3} 33.1 (4) 56

. : S - sspaas ; .
73. The area of equilateral triangle inseribed in the cirele A+ y7 =60 =8y -25 -0

15
(1) 225 (2) '*: (3) 50% - 100 ) M

ga x 4y’ -6y -8y—25=0% ST ReUd (o WAGTE e F7 & @

.r""\,'l

(3} 30x - 100 (1) S0=

-

74.  The sum of the focal distances of any point on the ellipse 9y + ]h]Jrj =144, s

(1) 32 (2) 16 (3) 18 4) 8
dfga 9x? +16y? =144 & fall famg & alieml & gRar &1 A5 7
(1) 32 (2) 16 (3} I& (4) &

WAy L k. 4 .
75.  The eccentricity of the hvperbola v7 -4y~ =1, is:

3 o o 3

b 5 PR o fy e
“-} —ﬁ' f._} “E"" E } -\,'II\T'!.. ["] 1"‘I,-—‘I
afgqvas v —41; =1 o Ieh=dr (¢) H U 8

1'..".E 'IE - i 2

= —_ - ""_

76. The equation of the circle which passes through Lthe origin and cut off nlercepts

3 and 4 from the positive parls of x-axis and y-axis respectively, is

: 3 1 : 5

(1)} &= +_If'J -3v—-4y=0 (2) X" +y7 -3y --'.t;:i
! =

- 2,2 : ; 25

(3} " +y +dy+3x=0 (4) Yoyt v dy = =
’ ) 4



7

78.

79,

80.

18U/94/29(Set-1)

qeferg W TS el 21 v ARy Hel FOUATTEE WTT | FHE 3 U9 4 W ws
FITH qrel TE BT FHIHET |

(1) x2+y?-3x-4y=0 () 4yt -3v-dy=

(3) .1r"£+]_.r2 +dy+3x =0 (4) x?+y?+3x+dy=

[ -2
"F"l':.u et B

[f O is origin, OP = 3 with direction ratios (d.c.s.) proportional to -1, 2, -2, then
coordinate of Pis:

(1) (1,-2,2) (2) (-1,2,-2) (3) [_l, 2

Y 9

af2 O gy &, OP = 3 a1 33 e @il (d.cs.) -1, 2, -2 ® WHARA € @
frg P fewms &

2 2 wemen
9" 9 T

1) (1,-2,2) @ 1,2,-2 () [ -'—,—,——} (4) (=3,6,-6)

If the points (-1, 3, 2), (-4, 2, 2) and (5, 3, ».) are collinear, then value of 2. is:

(1) O (2} | (3) 5 (4) 10
afg &g (-1, 3,2), (4, 2,2) TA1(5, 5, %) W4 & @ % bl FH g
(1 0 (2) 1 (3) 5 () 10

The length of perpendicular drown from the point 2 }+%Jx to the hine
F={l 1 —2}—81?} F (101 - 4}— llch) is (where % is any real number) :

(1) 14 (2) 14 (3) 3 (4) 4

Reg 21-j+5k & W& F= (11 =2] -8F)+ 110 -4j - 11k) ® dl¥ T 7@ N
awarg

(1) 14 (2) V14 (3) 3 (4 4

Let ¥ is sample mean of a random sample drawn from distribution
e [3-}:{1+{J}x':',[}«:r=:l,{};~{]. What should be minimum value of ¥ to gel
moment estimator of 62

3

(2)

|-J||—

|
(3) () =

(1)

| B

I

(23) P.T.0.
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81.

82.

59 ¥ a0 =10 0<x< 1,050 0 P ad ARG AT
sfdast wren € 0 % Il AIHAT A T T BT FLRA A AT

@ - )

!
5 (+) %

| n

{1}

Ll ] 13

There are five applicants for a job. The applicants are ranked from best o the
worst bul 1t 1s unknown to the employer. He randomly selects bwo applicants,
Which of the following events has maximum probability of selection ?

(1) The worst and one of the two best,

(2) At least one of the bwo best.

{3 Besl and one of the two worst.

(4} None of the two best.

el A & fay dig spaedl € ansfalay &) weet ormr @ wad @i oo eidag
fovn rar 8, oifhs Fria & og oar 98 ¥ 98 agfes v @ 3 amBa g
=l & | Frafafaa gemmaell § @ &9 g @1 gatfes ufdad) waar 2 °

(1) %93} wRrd 3N 37 T3 st 4 9 0F |

(2) &1 Favd o H | @H O @ T |

(3) Tl @] AR G T @ H 3 Ui |

(1) & wag arel d T e At

There are three bags, each containing a while and b black balls. One ball is

drawn from first bag and placed in the second bag. Then a ball is drawn from

the second and placed in the third bag. A ball is then drawn from the third bag.

Which of the following is probability of selection of a white ball from third bag?

a i i+l i+ '

2 B b s

i+ I a+b+1 ©) d+h ) v+

AE @ WHE A b BTl A e gt O A4S | U 98 F 9 o i R

STl & S g@e el § ) Wl &1 R qan S d A us e Berd o g 3

TR ol 8 <t ol &) O R da § 9 ve e Ped s 2 fre g g e

die de W op wee e Freas @t aifear & 2

(1)

. i1 i T N |
1y 2 . (3 p i)
a+bh (2) i e il 4 T4+

(24)
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83. Rcad the following slatements carefully in context of the function given below
Fixy=10. if x<()
= 3¢s, if Dex<1
= dec=-7¢?,  if 1€x<2
=Yc-7¢- -1, if 2ex<3
=1, if 3=x.
Assertion (A) : F(x) can be cumulative distribution function of a continuous
positive random variable for properly chosen value of ¢,

Reason (R) : For proper choice of 'c’, F(x) is monotone and bounded between ()
and 1.

Select your answer from the following codes :

(1) Both A and R is true and R is correct explanation of A.

(2) Both A and R is true but R is not correct explanation of A.
(3) Aistrue but R is false.

(4) A is false but R is true.

d feg T wae
F(x) =0, e x<)
= 3¢?, e 0<x<l1

=4e-7¢3, A 1=x<2
= Yo-7¢2 -1, T8 22x<3
=1 afe 32x.
@ i # Frfafad sam @) wrgds afey
®YF (A) : ¢ & Wfaw gufAa 9 & forl, Fix) 5 aaa a9reis agfoes o @
Hadl g el 8 AEHdT 2 |
SRUT (R):'c’' & @yt ous & fofl Fix) Thed 3R 03w 1% e g &)
frafarfa &gl # 51 399 9% g
(1) AR RH W8 € @ A 3 Hal @ RE
(2) AR RS |81 & W=] A @ 98 @ RAd 2 |
(3) Aval 2fFg R7aad 81
(4) A veid & fsg R 921 2

(25) P.T.0.
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84.

85.

86.

A non-negalive integer valued random variable takes value k with prob abihty
praportional to ak{U<a<1) and F(x) denotes its cumulative distribution funchion,
then F(1) is equal to

(1} a (2) 1-a (3) afl-a) (4) T-a*

®IE TN Yol HE didl aged @ abl<a<l) & EEETaE WEET § e
ok oal & 3 F(x) 39a w9 §o9 e @ wal¥a wan & a1 Fl)

(1 a (2) l-a {3) a(l-a) {4} 1-a-

& TR B

The probability mass function of a random variable X is given below
fpxy=x/15; =l LR W
=4 otherwise.

I'hen the conditional probability that X lies belween 1/2 and 5/2 given that A 1s

greater than one is :

(1) 1/7 2y 3/7 (3) 2/15 (4) 1/3
agfied oX X 1 Wideel 7= Berm 0 fqum e 2
[(x) =x/15; x=1,2,3473

=) 3T |

dar X & I,e AN 5/2 & 7 Ten @ wiaatte gy Al B oam E X e

(1) 1/7 (2) 3.7 (3) 2/15 (4) 1/5

© |

The geometric mean of the distribution [{x} = A(x-2) (1-x), for 12x<2 i -

(1) (1/16) log(19/6) (2} (1/16) elte/o
(3) (1/6) log(17/6) (4) (1/6) ¢

f(x) = 6(x-2) (1-x), 1<x<2 & for; g @1 qUieR HEd &
(1) (1/16) log(19/6) (2) {1/16) M
(3) (1/6)log(17/6) (4) (1/6) ci77é

(26)
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88.

89.
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A random sample of size n is drawn from a pupulation of size N, having mean
ioand standard deviation o, using simple random sampling without
replacement. The covariance between any two sample observations will be

(1) -o*/N (2) —==/(N-1) (3) -o%/n (4) -o%/(n-1)
4 p AN A [aan o wEe gl N STaR & Bl auie | on aEw B 0w
gftse uftey we agfes ufrews f afeeneT ugae @ P @ e
fbe] & oftey] deoli & we WEwRA

(1} —o*/N (2) -6%/(N-1) (3) ~o%/n (4) -o/(n-1)
T |

The power ot d Lestis the probability of -

(1) Rejecting Ho when H; is true. (2} Rejecting Ho when Hy 1s true.
(3) Rejecting Hi when Hy is true. (4) Rejecting Hy when Hu is true.

fored wdten o Fifde

(1) Hy &1 3R&IER @< o/ Hy w8 81
(2) Hy @ sl He0 wa H 6l 2
(3) H & sRdiar &3 o Hy T8 8|
(4) H, @7 FEER F3A1 7@ Hy FeY e
AMINECors il

Which of the following statements is ALWAYS true ?

Snl: Sum of independent Binomial variable is Binomial variable.

S : Sum of independent Poisson variable is Poisson variable.

5, : Sum of independent Normal variable is Normal variable.
Choose the correct answer from the following :

(1) S and S: are ture but S 1s false. (2) S:and S; are ture but Sy is false.
(3} Si and Sa are ture but 52 1s {alse. (4) Si, Sz and 53 all are true.
Erefafag oo # O $F Rag TEE 7

5, . e f2ug == @ g fgug W dar €

S, - T3 W |Y] @1 AN W e ¥ |

S, - @t SETEEG AR} B AR T B eI

fFrefotfn i § @e 9wr g Sy

(1} S AR S 2 3 53 e Z (2) S, 3t S5 3E] & uRe] S A 21
(3) S RS WE & 9 S I €| (4) S, 53N Sy A G B

(27) P.T.0.
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90.

91,

" : ; y . : T Ay 18 reported as
the equation of pair of regression lines for a given Jdala is reporte

4X +5Y +33 =0 and 20X 9Y - 117 = (.

Statement(S) : We cannot calculate the correlation coelhicient between X and Y.

Reason(R) : 1t is not specific which one is regression of X on Y and which one 15
Y on X.

Choose the correct answer from the following

(1) Sis true and Ris its correct explanation.

(2) Sistrue bul R is not its correct explanation,

(3} Sisfalse but Ris true.

(4} Both S and R are false.

ey v o sfiee @ (oo wser varmed & w@ilaen 4X + 3Y + 23 = 0§
20X -9Y - 107 = 0 31 Hife wialta 8

FUF (S): X 3R Y & meg @EGgy Tuile @) T v A B W B

SROT (R) : U8 =2 ffead (o vy 2 [ dd Ub XOTTY T A BR Wb Y &I X
TR HHIEOT |

frfefera 4 @ g8t gy gafsa w5

(1) HF’f“?{ﬁ@ﬁ'{ HW ?TE?[ TETEE] E—“.j IfZ} Eﬂk:l x‘j [ \c._'l_i" ‘E"r’x ':r;‘{_?;;‘-‘—f %|
(3) S7d & Wy REE £ (1) Same R @41 ¥da £

If X is a single observation from a Pmsson distribulion with parameter 7,
consider the following in the context of point eshimation of exp(=32) ;
Assertion(A) : Unbiased estimators may be absurd.

Reason (R) : (-3} is the only unbiased e<timator of expi=34).

Choose the correct answor from the following :

(1) Both A and R is correct and Ris correct explanation ol A,

(2} Both A and R is correct and R is not correct explanation of A

(30 A s true but R s false.

f-l] A is [alse but R is troe.

T gTIA 9T "R §ed | @ Ted uew o o i e exp{-27.) & fig
IEHE B Ty H ey

FYA (A} : AT sEE® FReSE 8 Ha o

BIROT (R) : exp(=34) BT (=30 THHT FI0770 00T i

Frfefa wiet 4 | 98T e w0 e i

b A SN R e @8 £ alw A T S s 2 e

(2) AdR RAF T & wg A 9 s R ¢

(3) AWEl & UTw] RTerd &

(4) A ToAT & T R ¥l &

JLEL

(28)
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g3.

94.
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Let Xy, %, ..., X, be a random sample from normal distribution with mean 0
n

n -
and variance 0. I T = 3 X; and T; = Z,"{[ , then

= =1

(1} Tsand T: are jointly sufficient for 0.

{2) Only Ty is sufficient [or 0.

(3 Only T:is sufficient for (.

{4) Netther [ nor T- is sufficient for 0,

A X, Xz, e, Xo T 0 R IRRET O G791 G0N dCT G @18 gigiee Jfdey

1Ak Ti= 3X, Rz 357 2
=] i=1l

(1) Ty 9% T W9 wu 9 0 fae qubhg 2
(2) @ad Ty, 0 & fou guie 7

(3) @asl Ta, 0 & farm oie 2 |

(4 Sl T & T, 0 & 37 gaig 2

Ina 2-factorial experiment, the effect total [A] is given as :
(1) (D+(a){b)+(ab)+(c)+{aci~{bc)+(abc)
(2) ~(1)-(a)-(b)-(ab)+{c)+{ac)+(be)+(abc)
(3} —(li+{al-ibi+{ab)-(c)+(ac)—(bc)+{abc)
(4) (1) (a) (b}+(ab)- (o {ac)-(be)+{abe)
2°-FUTET WA # wE-aeT [A]

(1) (1)+{a)-(b)+(ab)+{c)+{ac)~{bc)+(abc)
(2) ~{1)=(a)=(b)~{ab)+(c)+({ac)+(bc)+({abc)
3) ~{1+(a)=(b)+(ab)-(c)+{ac)~(bc)+(abe)
(4) =(1)—{a)~(b)+({ab)+(c)+{ac)~{bc)+(abc)
% ovE o W 2|

—

break’ statement is used for :

(1) to quit the program (2) to continue the program

{3} to go to the next iteration (4} to quii the current iteration
e weehe w1 gan FeEfefad 7 W Gaftn R omen # 2

(1) "rr WY WET F T (2) ST &1 A 9+ @ o

(3 anreT gfevem | v W o (4) Tfurs sy & wes © B

(29) T8
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95.

96.

a7.

98.

99.

100.

The decimal number 102 wriilen i laimr}f I8

(1) 0110011 (2} 110011 (3) 110110 () L0010
affme Al 102 B =t aiw wone 4 &9 Frafig e a7
(1) 0110011 (2} 110011 (3) 110110 (B L0110

Calculate the addition using Binary Arithmetic Operation for: (1017): + (10010). =2
(1) (101): {2} (L0011, (3) (L1101} (43 (001100
BIRE R Tl i T OO e A L B e ) e A

(10112 + (1001002 = 7

(1) (10110): (2) (10011): (31 (11100 () (001010}
A tlip-flop has two output which are :

{1} AlwaysQ (2) Always I

(3) Always complementary (4) Always equal

v Fera-9@ & a1 aveeye & Eid 8

(1) =3a N (2) wéa 1

(3) TTET BT (4) wed Far

An 8-bit register contains the binary value 10011100, What is the register value
after arithmetic shift right 7

(1) 11001110 (2) 01001110 (3) oot (4) HHOLETO

v §-fae i # argad dn 10011100 #1359 e § aftedy fime g
AT T U whewex # 8 w@e a enft ?

(1) 11001110 (2) 01001110 (3) 11100111 (4) 10101110
The deceded instruction is stored in.................

(1} Instruction Register {2) Program Counter

(3) Memory data Register {(4) CPU Registor

TH EHISS-gNCde hel i 2l 8 7

(1) gvgar e (2) WRIH Hrdes

(3) FFN er Wiy (4) CPU wfywex

Simpson’s formula is applicable to :
(1) odd number of intervals (2) oven number of intervals
{3) odd or even number of intervals (4) when interval 1s more
R g Frafaften 3 & g awygan & 2

(1) 3favrer Heem fowy e oe (2) Siovre &g W B8 W
(3) IFNTET HE w@H g7 A g O (4) T HE s g9 W

(30)
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(=)

11.

13.

14.

afera & fag e

R e SoTHodRo TR b Al St W F

NEEBAE]
T8 giaE @ W ST A SR T
gre-ige W 2 leidd)

yo yRawr BT & A fFE & R B a4 d by il g HINE e Sl s
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Objectives of education are decided by :
(1) Philosophy of Education

(2) Sociology of Education

(3) Psychology of Education

(4) Technology of Education
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Interpretation of meaning depends upon :

(1) Past experience (2) Psychological state
(3) Present circumstances (4) Economic state
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The most important challenge before a teacher is :
(1} To maintain discipline in the classroom

(2) To make students do their home work

(3) To make teaching-learning process enjoyable
(4) To prepare question paper
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